$10 000 is invested in a bank receiving 4% interest at the end of each year.
How long does it take before the investment doubles in value?

After 1 year A=10000 x 1.04

After 2 years A=(10 000 x 1.04) x 1.04
A =10 000 x 1.04°

After 3 years A=10 000 x 1.043

After n years A=10 000 x 1.04"

How long does it take before the investment doubles

in value?
10 000 x 1.04™ = 20 000
Solve forn
L04m — 20 000
' 10 000
1.04™" =2

Take logs of both sides
In(1.04™) = In(2)
nin(1.04) = In(2)

_ In(2)
n= ln(1.07f)

B
In 2
In 1.04

[

17.67298769
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We can also use the calculator to solve.
The table function is useful here

10 000 x 1.04™ = 20 000

]

Y1=10000%x1.04" (x)
X ¥1

‘ 16 18729

17 10479
N 20258
19 21068

20258.16515
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n=18

You can also solve using the graph mode
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[EXE]:Show coordinates

=10000x1.04"(x) [

INTSECT
=17.67298769 ¥=20000 %
n=18
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